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Network Programming
Question [1-40] – Part A [Each 1 mark]

Question [41-60] – Part B [Each 2 marks]

Question [61-75] – Part C [Each 4 marks]
Part-1  One mark Questions:
1.  J2EE stands for____________.

 a. Java 2 Enterprise Edition

 b. Java 2 Enter Edition

 c. Javax 2 Enterprise Edition  

 d. None of these

2. EIS stands for____________

 a. Enterprise Information System

 b. Enterprise Informative System  

 c. Enterprise Information Symbol

 d. Enterprise Information Software 

3.  Which method is responsible to transfer a block of data to the server in the 

     Entity body of the request

a. Get 

b. Put 

c. Post

d. Options
4. Which one is not parameter of response?  

a. Protocol

b. Date
c. Content-type

d. Last-Modification 

5. What is default port of HTTP?

a. 80
b. 75 

c. 25 

d. 90
6. Which among the following is a Web server____________
a. Web Logic
b. Tomcat
c. Web Sphere

d. JBOSS

7. The HttpRequest and HttpResponse goes through__________

a. Web Server

b. Web Browser 
c.   WWW

d. None of the above

8 PHP stands for_______ 
 a. Pre Hypertext Processor

 b. Hypertext Processor

 c. Pre Hyper Processor
 d. None of these

9.  _________  and ____________ scripting languages are given by Microsoft.

a. Jscript, VBScript

b. Java, VBScript
c. Jscript, VB

d. None of these

10. Data appended in URL after question marks is called as___________

      a. URL Data
 b. Query String
 c. Name/Value pair

 d. None of the above

11. ___________ is a client side redirection 

a. sendRedirect

b. RequestDispatcher

c. SetHeader

d. All of the above
12. …………. is the super class of all errors and exception in the java language.

a. Java.Lang.Throwable 

b. Java.lang.Error

c. Java.lang.Exception

d. None of the above

13. Run-time exception can be created by extending ________ class 

   a. Runtime Exception
   b. ArithmeticException  

   c. IndexOutOfBoundException 

   d. None of the above

14. Which one is not session tracking technique?
 a. Cookies

 b. URL-Rewriting

 c. Hidden Fields
 d. None of the above

15. Cookies are ________, so they will not spread viruss 

a. Executable

b. Runable

c. Non Executable

d. Non of these

16. The verification of the identity of  a person  or process 

a. Authorization

b. Authentication

c. Acess Control

d. None of these

17. ASF Stands for:
a. Apache Software Foundation
b. Apache Software Forms

c. Advance Software Foundation

d. None of the above
18. _________ is a group of operations that should be completed as one unit or 

     as whole.

a. Transaction

b. Transformation

c. Templation

d. None of the above

19. In ACID, D stands for_______________ 

a. Durability
b. Discrete
c. Different
d. None of the Above

 . 

20. The problem of misusing attributes for a custom tag is addressed by defining 

      A ________ class to validate your attributes.

a. Tag Extra info

b. Extra info

c. Tag info

d. None of the Above

21. .jar stands for   ________ 

a.   Java Archive

b.   Java Architecture 

c.   Java archive Real
d. All of the Above

22. In which method of servelet life cycle we pass ServeletConfig as a
     Parameter
a. init()

b. service ()
c. destroy ()

d. None of the above
23. The __________ only supports access to simple bean properties  

a. jsp: getProperty
b. jsp:postProperty

c. jsp:popProperty
d. None of the above

24. _______ attribute specifies a name to use for interapplet communication

     Or for identifying the applet to scripting language like JavaScipt.

a. jsp:fallback

b. jsp:forward 

c. get
d None of the above

25. MVC stands for _______________

a. Model View Controller

b. Mode View Controller
c. Multi View Controller

d. All of the Above

26 The _______ class, in turn, has request, response, session, out, and servletContext properties
a. Context   

b. Page Context

C.Item class 

d. None of the Above

27 The approach of combining Servelets and Java Server pages is known as 
a. Mod View Controller
b. Model View Controller
c. Multi View Controller
d. All of the Above

28. _________ is used to obtain the complete output from the auxiliary page
a. Jsp: forward
b. Jsp: Backward
c. jsp:fallback 
d None of  the above

29. The ___________ values cannot be computed at runtime, nor can page      

        Directives
a. Thread
b. attribute

c. Procedure
d. All of the above
30. The standard MVC approach is to use the forward method of ________

      to transfer control from the Servletsto the JSP page 
a. Presentation 
b. RequestDispatcher

c. Model view of controller

d. None of these

31.  A RequestDispatcher has two primary methods 
a. Include
b. Forward 

c. inward
d. Both a) and b)

32.____________________ objects support 3 types of Scrollabilities

     Type_Forward_Only,    Type_Scroll_Insensitive and Type_Scroll_Sensitive
a. ResultSet  
b. Typeset 

c. Type Scroll
d. None of the above

33. What is the form of using JSP TAGS?
a. <%! Declaration here…. %> 

b. <% Declaration here… %>

c. <!% Declaration here….%>

d. None above
34. JSP pages are converted into__________________ 

a. Plain Java class
b. Servlet class 

C.Servlet interface

d. servlet 

35. Statements written in _________ are executed even there is an exception

      Which is not caught?
a. throws

b. throw

c. Try
d. Finally
36. The …………allow specifying name to the cookies and getting the same for               

      Tracking the user for next time
a. getName

b. setName

c. both a), b) 

d. None of the above

37. What are the types of authentication?
a. HTTP Basic Authentication

b. HTTP Digest Authentication

c. Form-Based Authentication

d. All of the above
38 .What statements are correct about JDBC transactions?

a. A transaction is finished when commit () or rollback () is called on the Connection
b.   A transaction is finished when commit () or rollback () is called on the Transaction object

c. A transaction is finished when close () is called on the 
Connection object
d. Both a) and c)

. 

39). what are the different types of scripting elements:

a. Declaration 
b. Scriptlets 

c. Expression 

d. All of the above 
40. ________ instructs updates in view of application

a. Java Script
b. Java class 

c. Java 

d. None of these
Part-2: Two Marks Questions
41. What are the components of ColdFusion
a. ColdFusion Sever 

 b. ColdFusion Markup Language 

 c. ColdFusion Studio 
d. All of the above 
42.  ________ exceptios contained in javax.servlet
a. ServletException

b. Unavailable Exception                      

c. Only a

d. Both a), b)

43.__________ what are the Servlet Life Cycle.
a. init ()
b. Service () 

c. destroy () 

d. All of the above

44. What are the subclasses of Throwable Class?
a. Error

b. Exception

c. Runtime Exception

d. All of the above

45. What is the sub class of an Error ___________.

a. VirtualMachineError

b. NullPointerException

c. IOException

d. NullPointerError

46. Three tier is devided into __________, _____,   and____________

a. Presentation Layer

b. Business Layer
c. Database Layer
d. All of the above

47. Service () method takes ____ and ______ arguments

a. ServletRequest

b. ServletResponse

c. Servlet Query

d. Both a) and b)

48.  Genereric class implements ________  and ________ interface

a. ServletConfig, ServletContext
b. ServeletResponse, ServletContext
c. ServeletConfig, ServeletResponse

d. None of the above

49. What are the actions associated with Cookies 
a) Adding comments
b) Setting life of cookie

c) Setting version

d) All of the above
      50. What are the methods of servelet Redirections?
a. sendRedirect method

b. RequestDispatcher interface

c. both a) and b)

d None of the above

51. What are execute series

      a. executeQuery()
b. executeUpdate()

c. execute()

d. All of the above

52. In a web environment there are two types of Protocols: 

      a. Stateless, state
      b. Stateful, stateless
      c. State, stateless
      d. none of the above
53. What are the types of Session Management?
a) Cookies

b) Re-Writing

c) Hidden Form Fields

d) All of the above 

54. What are the methods in custom tag life cycle?
a. DoStartTag () Method

b. DoEndTag () Method

c. Both a) and b)

d. None of the above

55.  _____________  and _______________ are the methods of HttpSevletRequest methods

a. (i) getAuthType (ii) getCookies ()
b. (i) getRemoteUser (ii)getSession

c. Both a) and b)
d. None of the above
56. Which methods set the value of the named header as a String? 

a. setHeader 

     b. setDateHeader

     c. set Status
d. None of the above

57. To retrieve all header names from request, which of the following will be?
used?   

a. getParameter()

b. getParameterNames()

c. getHeaderNames()

d. getAttributeNames()

58. __________provides data encryption and _______is a very strong form

of authentication.

a) SSL , CA

b) TCP, IP

c) CA, SSL

d) None of the above

59. JDBC API‘s are available in   

a) Java’s and javax.sql

b) Java.net and  java.sql

c) Java.jdbc  and java.odbc

d) None of the above

60. What are the methods related with ResultSet class 

a) next(), first() 

b) isFirst(),isLast()

c) Both a)  and  b)

d) None of the above 

Part-3: 4 Mark Questions:

 61.  Match the following

i)  Scope                            a)   Defines the name for the scripting variable

                                                as a fixed value    

ii) variable-class                 b)   Specifies the attribute that is used to define 

                                                scripting variable name  

iii) name_given                   c)   Specifies the class of the scripting variable                

iv) name-from _attribute     d)   Defines the scope of the variable__must

                                                 be one of the nested
a. i-a,ii-b,iii-c,iv-d

b. i-d,ii-c,iii-a,iv-b

c. i-d,ii-a,iii-b ,iv-c

d. i-d,ii-b,iii-a,iv-c

     62.  Match the following

i)  Application_scope   a) Available until the current page processing                      

                                       Completes             

ii) Page_Scope             b) Available until the context is reclaimed                                                

iii) Request_Scope       c) Available to all pages in the Current session                

iv) Session_Scope       d) Available until the current request completes

                                     allowing the variable to be used by other pages

a. i-b,ii-a,iii-d,iv-c
b. i-d,ii-c,iii-a,iv-b                       
           c)  i-d,ii-a,iii-b ,iv-c

           d)  i-d,ii-b,iii-a,iv-c

 63. How can you execute a stored procedure in the database? 

i. call method execute() on a CallableStatement object

ii. Call method executeProcedure () on a Statement object

iii. Call method execute () on a StoredProcedure object 

iv. Call method run () on a ProcedureCommand object

a) I, ii, iii

 b) ii), iii)
c) Only iii) 
d) None of the above.

  64. ResultSet object support the Scrollabilities 

           i. TYPE_FORWARD_ONLY

           ii. TYPE_SCROLL_INSENSITIVE

           iii. TYPE_SCROLL_SENSITIVE


iv. TYPE_SCROLL_POSITIVE

a) i,  ii
b) i, ii), iii)

c) ii), iii), IV
d) None of the above 

65. Which of the following is not an authentication method used by a web 

       Container

i) BASIC

ii) DIGEST

iii) SSL

iv) FORM
a. i, ii

b. i, ii, iii
c. only iii
d. None of the above
   

66. Which phase results in the creation of a servelet class corresponding to?  

       JSP page

i)  Request Phase

ii)  Service Phase  

iii)  Translation Phase

iv)  Initialization Phase
 a) iii, iv 

 b) iii,ii,iv

c)  iii, iv, i
d)  None of the above

 67. What are the Jsp: plugin Optional Attribute? 

     (i) type

     (ii) Code
     (iii) width

     (iv) height

i,  ii,   iii   

ii, iii,  iv

iii and iv only

i,  ii,  iii,   iv 

 68.  Match the following

i)  Authorization        a. The verification of the identity of a process             

ii) Authentication       b) Permission or power granted by authority                                                

iii) Access Control     c) Talking about controlling access to a web resource                

iv) Http                       d) does not support multiple realms

a) i-b,ii-a,iii-c,iv-d

b) i-d,ii-c,iii-a,iv-b                       
c) i-d,ii-a,iii-b ,iv-c
d) i-d,ii-b,iii-a,iv-c

69. The statement \${1+1} is ${1+1} gives the output____________

1. ${1+1}  is 2

2. ${1+1}  is  11

3. ${1+1}  is  121

4. ${1+1}  is  0

            a) i) –true,     ii) - false

            b) i) –false     ii) -true 

            c) i) –true      ii) - true       

            d) None of the above   

70. What are the features of XML?
i. XML element names can contain colons

ii. XML tags are case sensitive

iii. XML tags must be explicitly closed

iv. XML tag can be customized

a) i,  ii

b) i,  ii,  iii

c) i,  ii, iii,  iv

d) None of the above

71. Identify the techniques that can be used to implement ‘sessions’ if the client browser supports cookies. Select the correct option(s)                   from the list  

                  (i) Using Http headers

                  (ii) Using https protocol

                  (iii) Hidden form fields

                  (iv) URL reWriting

                  (v)Cookies

          (a)  i,  ii,   iii

          (b)  ii, iii,iv
          (c)  i, ii,  iii

          (d) Only (v)

72.  What are the parameters taken by the setAttribute () function  

            i) APPLICATION_SCOPE             

ii)  PAGE_SCOPE                                                

iii)  REQUEST_SCOPE                 

iv)  SESSION_SCOPE

a) i,  ii

b) i,   ii,   iii                       

                      c) i, ii,  iii,  iv

                     d)  None of the above

73. What are the steps to set environment variable:
i) set path

ii) Set Class Path

iii) Set Cataline-home

iv) Set java-Home

a) i, ii

b) i,  ii,  iii

c) ii,  iii,  iv

d) i,  ii,  iii,   iv

74) What are the Http Session Interface Methods?
i. setAttribute()

ii. getAttribute ()
iii. isNew ()
iv. invalidate ()
a)  i, ii

b)   i,  ii,  iii

c)  ii,  iii,  iv

d) i,  ii,  iii,   iv

  75) <jsp: useBean id=”key” type=”somePackage.SomeBeanClass”

                    scope=”___________”/>

i) request

ii) session

iii) application

iv) Presentation

a) i,  ii,  iii)

b) ii,  iii,   iv

c) iii, iv

d) i,   ii   
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